KCSE 2017 JKIM JOINT EVALUTION TEST
Business paper 1

Attempt all questions in the space provided

1. State four instruments used by commercial Banks to control the level of inflation (4marks)



10. Outline four reasons why government may impose value added tax (VAT) on s a commodity.
(4marks)
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14. State four factors that influence the level of national income of a given country. (4marks)






25. The following information’s was extracted from the books of Jamesly traders as at 31* December
2014(5marks)

Shs.

Motor van 20,000
Carriage outwards 5,000
Discount received 31,000
Gross profit 12,000
Rent income 12,500
Salaries 15,000
Insurance 1,000
Creditors 17, 000
Rent expenses 12,000
General expenses 12,000

Required to prepare Jamesly traders profit and loss account for the period ended 31st December 2014






